F2E - 2imgFxmEg

2.7 SARINTGA—A
2.11 (Bartlett )25 59 FIE

LL

F—J)—K . B{BIINTGA—A 2EHTFE

258 5 4E . B/ NTA—RICEBRAMNTES LSS,
—ESTEEFER LSS,

IL




9Eﬁ%ﬁ

5'/1%/\7)( /)-l
Zo, Zoy #ABAE—F R

Ey|  |A Bl |k 1 4 I, 2
n| |c p||L s s | A B[ %
01
. w 7 02
{KE%Q%{ Eﬂé) 01 D Zo2
o—% ———
Eq14 B Z02 E1 | Il IE 2’
Eols Zo1 B
ot = ,/ Zoy = Ci 9= (VAD + VBC)

Og6



A=D XFREER
Zo1=Z()2=w/§, H:In(A+\/BC)

7
A=1/22 coshd, B = +/Zy1Zossinh6
202

1 . | Zo2
C = sinhf/, D =4/ ——cosh#f
V 201202 Zo1

Zo1 = Zp2 KU

1
A=D =coshf, B = Zysinhf, C = Z—SinhH
01



AE—RF 2 RINGA—R, PRIRAAINSGA—FTERIH
AB 7
Zo1 =/ ah = YE NSATYAD

DB
Lot Lo
1=\ ag = Y22 = \/ZayZas
- Zlf_ Z2f
coshl = VAD =/ Z11Y11 = / Z22Ya2 = Zi. \ Z,.



[51])5E2E[27)

A B _F 0] [1 212]
¢ DT L 1o
O
1 Z5 ] c
_ a
_[zL1 1+ 2
Zo
AB: = - 1\/Z1+Z2
21 Z
o (1+fl) 2 = V(21 + Z2) Zs
e\

o~

/ Zo
—1
0 = cosh ' VAD = cosh 1+ _Z1

o O



U0 i -

9.6 (Bartlett D) 2ZF 9 EIE

| O—

57

Zr BFRTHMLTI-U oA VE—F X

7, BEHEEKZBLTI-I oA R E—F R

e A

“EFn T

WinF#Ea e T _F 2L, TOF 7D EERIZDINT,

Zo, 75 RS, ElHESF R

=

RICETESD,



B INTA—RLEDEA R

0 sinh 0
/s = Zycoth = =7
/ 0¢0 2 Ocoshd — 1
0 sinh 0
/s = Zgtanh - =7
0 tat 2 Ol—l—cosh@

Zo =\ 2012402



[51] -

Il o T T
(1) BIFRZEX TS .

Zy

' o—1 —© 1* O . I

&

> O—= o Z
Q) BHFHZHBMLTI-I i | o
AT=ERAVE—F R
Zf =21
Q) BFFEEBLTI-I M
AH=BIERAE—F R

) Zl ‘|‘Z2

> O )\ &




[151) 5825 [49] 22
(1) BIEEZE TR TS o , -
4 | Z Z, Z,
: Z
o o 2 ' e - o2
z 117
Zy L Lz, Z,
1" O . : . o 2’ 5
Q) BFHEHRBMLTI-I hHhin | O_[ 1 Ol_
A1=-ERAE—T R Z _TO
Ly = Z.'3
F=Zo+ 243 . l_o o

Q) BFHnzREHKELTI-I Hb

AT-[o

BAVE—AA R
YAV

S_Zl‘I‘ZQ




143

10



(FEBR) F2R /NS A —5H

Zot, Zos HABAE—F R

E A B|[E L4 L 2
1] 2 | - ")
IL| |C D||L Zo1 . 4 B
By 7 25 | Zoz
Ey 0 | ~ p |72
[ ——
01

~ I,  CE, DI

Ey = ZpoIy ZHXA

7 _& B AZOQIQ + B[Q B (AZOQ + B)IQ B AZQQ + B (a>
T T CZyla+ DIy, (CZys+ D), CZy+ D

11



e, [p B[ 14 L, 2
01 02
By Z—" Z*— £y
7 E2 . DEl +BIl 01 ! D 02 ED
T L, T CFEL+ AL O Hj

|

e~
e

"3

I ~ Clnli + AL, ~ (Cln + D)V, ~ 0l t A

(a) &Y

AZos + B
Zo1 = OZOQ =D = ZOl(CZ02 + D) — AZOQ + B

= CZywZys+DZy = AZyx+B (1)

7 Ey DZy 1 + Bl (DZoy +B)Iy DZy + B
02 ==

(b) &Y

DZy + B
2oz = CZo T A = Zp2(CZy+A)=DZy, + B

= (ZywZo1+AZyp = DZy1 + B (2)

12



(1) + (2)
CZnZos+DZyy = AZye + B
+ CZyoZly1 + AZy = D7y + B

QOZOQZO]_ + DZOl + AZQQ — AZOQ + DZ()l + 2B

20705701 = 2B
28 _ B
20 C

LooZpl =

(1) —(2)
CZo1Zoz + DZoy = AZopa + B
— CZyZon + AZyy = DZy + B
DZy — AZye = AZyz — DZpy
2D Zo1 = 2AZ0
Zn 2A A

Zos 2D D

13



2 C
Zoo _ 24 _ A
Zoa 2D D
A
(4) kY Zy = EZOQ

Zo1 = éZo2 ~HA

| BD /
_ 4 = 7
Ve 01 =

14






7, 0 —_ "
f = 1; 2 GETH

0, Zo1, Zos BARINTA—A

0 01465 61 62
5

el =e 2 =e2 -2
_ @(m+@))2(\/§(m+@))
—((mw@)f
—VAD +vVBC

6:1n(\/@+@>

L
2

16



E2 ’ 12

0 01+69 . 971 972 . E]_I]_
1 Eq 14

0= -1
2 S Bl

0=a+i8 EPLE
o BEEHM 5 UEEHR
9, Z()l, Z()Q 0)/\05)(_9—6%?—

&:eel—\f(rwﬁ g

17



WHIHREAEI TR

69 -+ 6_9

cosh @ = 5
:%(m”%*mi@)
s (A vae L
= - (VAD + VBC + VD - VBC)
_ VAD

cosh = VAD P

sinh § = vV BC sinh 6 = 9

tanh 6 = bo tanh § = e’ — e

E el + e—0

e =VAD + vVBC

18



A B, C, D % Zo1, Zo2, 0 TERY
Coshé’:\/AD:\/Apng 2:,4 /%
01

coshﬂzx/AD:\/ADBZD é:D Zoy
b D "V Z

| Zo2
= D =4/——=cosh@
Zo1

sinhf = vV BC = \/Bcg _B‘/%

AB BD B
01 CD’ Zo2 1C &KbY Zyi1Zyo c
1 .
sinhf = B = B =1/Zyp1Zp2sinhf
Vv Zo1 202
C /B 1 _

inhd =vVBC =vVBC—=0C—==0Zy1Zyo = C = sinh 6

S111 C C 01402 T Zos

19



RN TA—FE AN Mg FHROEREAIER

E] 4 B][E
L| |¢ D||L
Zo1 :
E1 =/ == (E2cosh 8 + IsZy, sinh )
A
Zoz { Fa
I = he + 1 hé
1 Zot (202 sinh ¢ + 15 cos )

20



F2E - 2imgFxmEg

2.7 SARINTGA—A
2.11 (Bartlett )25 59 FIE

LL

F—J)—K . B{BIINTGA—A 2EHTFE

258 5 4E . B/ NTA—RICEBRAMNTES LSS,
—ESTEEFER LSS,

IL

21



